There are a number of important differences in emphasis between consumer and organisational buying that have important implications for the marketing of goods and services in general and the personal selling function in particular.

Fewer organisational buyers

Generally, a company marketing industrial products will have fewer potential buyers than one marketing in consumer markets. Often 80 per cent of output, in the former case, will be sold to perhaps 10–15 organisations, meaning that the importance of one customer to the business to business marketer is far in excess of that to the consumer marketing company. However, this situation is complicated in some consumer

markets where the importance of trade intermediaries, for example, supermarkets, is so great that, although the products have an ultimate market of many millions of people, the companies’ immediate customers rank alongside those of  important organisational buyers.

Close, long-term relationships between organisational buyers and sellers

Because of the importance of large customers, it makes sense for suppliers to invest in long-term relationships with them. This is reflected in the growth of key account selling where dedicated sales and marketing teams are employed to service major customers. Customers also see the advantages of establishing close relationships with suppliers. Ford, for example, has reduced its number of suppliers from 30,000 to 3,000 and many now have single-supplier status. The nature of relationships in many consumer markets is different: customers and manufacturers rarely meet and for many supermarket products, brand switching is common.

Organisational buyers are more rational

Although organisational buyers, like all people, are affected by emotional factors, for example, like or dislike of a salesperson, the colour of office equipment, etc., it is probably true that on the whole organisational buying is more rational. Often decisions will be made on economic criteria. This is because organisational buyers have to justify their decisions to other members of their organisation. Caterpillar tractor salespeople based their sales presentation on the fact that, although the initial purchase price of their tractors was higher than the competition, over the life of the tractor costs were significantly lower. This rational economic appeal proved very successful for many years. Customers are increasingly using life-cycle cost and value-in-use analysis to evaluate products. Rail companies, for example, calculate the life-cycle costs including purchase price, running and maintenance costs when ordering a new locomotive. 

Organisational buying may be to specific requirements

It is not uncommon in business to business marketing for buyers to determine product pecifications and for sellers to tailor their product offerings to meet them. This is easible because of the large potential revenue of such products, for example, railway ngines. This is much less a feature of consumer marketing, where a product offering ay be developed to meet the need of a market segment but, beyond that, meeting ndividual needs would prove uneconomic.
